2 feHb, 1 Hegenu

SHepreT o
Mpuem nuuiM; HaumeHoBaHWe 6nioaa Macca nopyuu Muwessie BemecTsa u= Butamunsl MuHepaneHble BelyecTsa peuen-

yeckan IVDL!

mmﬂzx. vx:wr_. <\Hwﬂo B1,mr| C,mr | A, mkr | [, Mkr |B2,Mr| Ca,mr | Mg,mr | P,mr |Fe,mur | Komr | Lmr | F,omr|Se mr

3aBTpak
Kalua maHHas ¢ macriom 150 5 7 18 175 0,12 12| 2730( 0,26 0,11 27,30 29,30 182,30 1,90) 195,30 363,00 0,2 0,02 TTK
BartoH foANpoBaHHbI 20 14 0,5 9 62| 0,06 0 0 0| 0,03 6,7 1.0 26,5 0,7] 395 1,09 0 0| TTK
Macrio cnueoyHoe nopuyamMm 10 0 6 0 67| 006 0,14 63,1 0,24 0,08| 183,79 12,26 112,95 0,06| 2833 0,00( 0,01 00| TTK
KodbeitHbIt HanUTOK ¢ MOTOKOM 150 1 2 16 83( 003 213] 1253 1,10 0,03| 110,20 4 99,2 0,01| 25,00 0 0} 0,0027| TTK
Wroro 3a 3aBTpak 330 10 16 74 387 01 1.2 273 0,3 0,1] 2621 62,4 182,3 19| 1953| 363,0 0
2 3aBTpak
HanuTok Kncro-MorouHbI 150 ! 7] oos| 14 o oos| 218 120 129 265 3253]  27[ 002l o] Tk
Obepn

Cyn KypuHbIiA ¢ BepMuULLENbIO 160 2 5 9 188| 0,35| 20,10 12,0, 002 065 62,30 49,20 254,30 2,10|348,30| 92,30| 0,05 0,09 TTK
Kotnera pbi6Has 50 i 5 5 130 0,05 0 35| 0,28 008 18,10 15,20 67,00 14| 57,30 61,20 0 0of TTK
KaprodhentHoe niope 110 2 3 10 120( 0,17 26,40| 28,00 0,10 025| 49,30 34,50 99,20 1,45(763,20 76,50 0,05 of TTK
Xne6 pxatoit 30 2 05 8 60| 0,05 2 0 o[ 0,03 38 3,9 175 09| 215 0,00 0 of TTK
Hanurok u3 WwunosHuKa ¢ u3toMom 150 1 0 25 119 0 03 38 o[ 0,03 12,5 6,5 0| o080 241 0 0| 055| TTK

Wroro 3a O6ep 500 14 14 57 617 06| 488 1130 04 1,0 146,0 108,3 438,0 6,7|11431,3| 230,0 0,1 06

YRNOTHEHHBIIH NONAHKK

Chip nopy 10 23 38 2 67 0 0,1 10,2 0| 0,01 5,15 44 8,24 0,02 251 0 0 0] TTK
OmrieT HaTypanbHbIit 130 1" 42 21 124 0,05 007| 502 51| 0,00 175 27 53 0,0 52 0 0] 000| TTK
Yaii ¢ HU3KUM coepxaHueM caxapa 150 0 0 2 52 0 0,1 0 0| 0,01 5,15 44 8,24 0,01 151 0 0 0| TTK
BatoH fioanpoBaHHbIi 20 14 05 9 62| 0,06 0 0 0| 0,03 6,7 1.0 26,5 0,7 395 1,09 0 0| TTK

Wroro 3a MongHuk 310 15 9 34 305| 0,12 13,14 63,1 024 0,13 71,70 54,80 115,18 6,23(659,73 16,18| 0,02 29

Wroro 3a aexb 1290 42 41 170 1379 08| 758 1761 0,6 12| 5064 2450 830,2 15,5(2416,3| 248,9 0.1 35




